Regio A

AUTOCRUSY SPOHLE ¢,V

#
Startaufstellung -
Lauf 1
e Reihe 4 60 869 21 22 —
A |
;’ Reihe 3 69 818 59 90 m
S E
E Reihe 2 124 141 552 38 N
Reihe 1 24 84 145 23
Lauf 2
= Reihe 4 145 84 23 24 —
A |
U Reihe 3 22 21 869 60 N
S N
S E
E Reihe 2 59 818 90 69 N
Reihe 1 38 552 141 124
Lauf 3
: Reihe 4 552 141 38 124 I_
U N
S Reihe 3 23 145 84 24 N
S E
\E/ Reihe 2 21 869 22 60 N
Reihe 1 90 59 818 69
Lauf 4
— Reihe 4 69 59 818 20
A —
U Reihe 3 552 141 124 38 !
S N
S N
E Reihe 2 145 24 23 84 E
v N
Reihe 1 869 60 22 21 \ /




